

On the Cubic Equation with Four Unknowns $x^3 + y^3 = 24zw^2$

Dr.R.Anbuselvi*, K.S.Araththi**

*(Asso.Prof.,Department of Mathematics, ADM College for women,Nagapattinam,India
 Email: anbuselvi134@gmail.com)

** (Research Scholar,Department of Mathematics, ADM College for
 women,Nagapattinam,India
 Email: ksaraththi@gmail.com)

ABSTRACT

The cubic equation $x^3 + y^3 = 24zw^2$ is analyzed for its non – zero distinct integer solutions. Three different patterns of non-zero distinct integer solutions to the equation under consideration are obtained. A few interesting relation between the solutions and special numbers are exhibited.

Keywords - Integral solutions, nasty number, Ternary Cubic

I. INTRODUCTION

The cubic equation offers an unlimited field for research because of their variety [1-2]. For an extensive review of various problems, one may refer [3-10]. This communication concerns with yet another interesting ternary quadratic equation $x^3 + y^3 = 24zw^2$ representing a homogenous cone for determining its infinitely many non-zero integral solutions. Also a few interesting relations among the solutions have been presented.

II. METHOD OF ANALYSIS

The cubic Diophantine equation with four unknowns to be solved for getting non – zero integral solution is

$$x^3 + y^3 = 24zw^2 \text{ ----- (1)}$$

On substituting the linear transformations

$$x = u + v, y = u - v, z = u \text{ -----(2)}$$

in (1) leads to

$$(u + v)^3 + (u - v)^3 = 24uw^2$$

$$(u^3 + v^3 + 3uv(u + v)) + (u^3 - v^3 - 3uv(u - v)) = 24uw^2$$

$$u^3 + v^3 + 3u^2v + 3uv^2 + u^3 - v^3 - 3u^2v + 3uv^2 = 24uw^2$$

$$2u^3 + 2(3uv^2) = 24uw^2$$

$$2u^3 + 6uv^2 = 24uw^2$$

$$2u(u^2 + 3v^2) = 24uw^2$$

$$u^2 + 3v^2 = 12w^2 \text{ -----(3)}$$

We obtain four different patterns of integral solutions to (1) through solving (3) which are illustrated as follows :

Pattern 1:

$$\text{Assume , } w = a^2 + 3b^2 \text{ -----(4)}$$

Write '12' as

$$12 = (3 + i\sqrt{3})(3 - i\sqrt{3}) \text{ -----(5)}$$

Using (4) and (5) in (3) and employing factorization,

$$u^2 + 3v^2 = 12w^2$$

$$u^2 + 3v^2 = 12w^2$$

$$(u + i\sqrt{3}v)(u - i\sqrt{3}v) = (3 + i\sqrt{3})(3 - i\sqrt{3})(a^2 + 3b^2)^2 \\ = (3 + i\sqrt{3})(3 - i\sqrt{3})(a + i\sqrt{3}b)^2 (a - i\sqrt{3}b)^2$$

Which is equivalent to the system of equations

$$(u + i\sqrt{3}v) = (3 + i\sqrt{3})(a + i\sqrt{3}b)^2 \text{ -----(6a)}$$

$$(u - i\sqrt{3}v) = (3 - i\sqrt{3})(a - i\sqrt{3}b)^2 \text{ -----(6b)}$$

Equating the real and imaginary parts either in (6a) or (6b), we have

$$(u + i\sqrt{3}v) = (3 + i\sqrt{3})(a + i\sqrt{3}b)^2 \\ = (3 + i\sqrt{3})(a^2 - 3b^2 + 2ai\sqrt{3}b) \\ = 3a^2 - 9b^2 + 6ai\sqrt{3}b + a^2i\sqrt{3} - 3i\sqrt{3}b^2 - 6ab$$

$$u = 3a^2 - 9b^2 - 6ab \text{ -----(7)}$$

$$v = a^2 - 3b^2 - 6ab \text{ -----(8)}$$

On substituting (7) and (8) in (2), we get

$$x = u + v$$

$$= 4a^2 - 12b^2$$

$$y = u - v$$

$$= 2a^2 - 6b^2 - 12ab$$

$$z = u$$

$$= 3a^2 - 9b^2 - 6ab$$

The non – zero distinct integral solutions of (1), are

$$x = x(a, b) = 4a^2 - 12b^2$$

$$y = y(a, b) = 2a^2 - 6b^2 - 12ab$$

$$z = z(a, b) = 3a^2 - 9b^2 - 6ab$$

$$w = w(a, b) = a^2 + 3b^2$$

Properties:

(i) $x(a, b) - y(a, b) \equiv 0 \pmod{2}$

(ii) $x(a, b) - z(a, b) - t_{4,a} \equiv 0 \pmod{3}$

(iii) $x(a, b) + 2w(a, b)$ is a nasty number

(iv) $y(a, b) - 2z(a, b) \equiv 0 \pmod{4}$

(v) $z(a, b) - 3w(a, b)$ is a nasty number

Pattern 2:

Write '12' as

$$12 = \frac{(6 + 2i\sqrt{3})(6 - 2i\sqrt{3})}{4} \text{ ---- (9)}$$

Using (4) and (9) in

$$u^2 + 3v^2 = 12w^2$$

$$(u^2 + 3v^2) = \frac{(6 + 2i\sqrt{3})(6 - 2i\sqrt{3})(a^2 + 3b^2)^2}{4}$$

$$(u^2 + 3v^2) = \frac{(6 + 2i\sqrt{3})(6 - 2i\sqrt{3})(a + i\sqrt{3}b)^2 (a - i\sqrt{3}b)^2}{4}$$

$$(u + i\sqrt{3}v)(u - i\sqrt{3}v) = \frac{(6 + 2i\sqrt{3})(6 - 2i\sqrt{3})(a + i\sqrt{3}b)^2 (a - i\sqrt{3}b)^2}{4}$$

Which is equivalent to the system of equations

$$(u + i\sqrt{3}v) = \frac{(6 + 2i\sqrt{3})(a + i\sqrt{3}b)^2}{2} \text{-----}(10a)$$

$$(u - i\sqrt{3}v) = \frac{(6 - 2i\sqrt{3})(a - i\sqrt{3}b)^2}{2} \text{-----}(10b)$$

Equating the real and imaginary parts either in (10a) or (10b), we have

$$\begin{aligned} (u + i\sqrt{3}v) &= \frac{(6 + 2i\sqrt{3})(a + i\sqrt{3}b)^2}{2} \\ &= \frac{1(6 + 2i\sqrt{3})(a^2 - 3b^2 + 2ai\sqrt{3}b)}{2} \end{aligned}$$

Equating real and Imaginary parts, we have

$$u = \frac{1}{2}(6a^2 - 18b^2 - 12ab) \text{-----}(11)$$

$$v = \frac{1}{2}(2a^2 - 6b^2 + 12ab) \text{-----}(12)$$

On substituting (11) and (12) in (2), we get

$$x = u + v$$

$$= 4a^2 - 12b^2$$

$$y = u - v$$

$$= 2a^2 - 6b^2 - 12ab$$

$$z = u$$

$$= 3a^2 - 9b^2 - 6ab$$

The corresponding integer solutions are given by

$$x = x(a,b) = 4a^2 - 12b^2$$

$$y = y(a,b) = 2a^2 - 6b^2 - 12ab$$

$$z = z(a,b) = 3a^2 - 9b^2 - 6ab$$

$$w = w(a,b) = a^2 + 3b^2$$

Now choose a and b suitably so that the solutions are in integers.

In particular, the choice a = 2A and

b = 2B leads to the integer solutions to (1)3are given by

$$x = x(a,b) = 16a^2 - 48b^2$$

$$y = y(a,b) = 8A^2 - 24B^2 - 96ab$$

$$z = z(a,b) = 12A^2 - 36B^2 - 24AB$$

$$w = w(a,b) = 4A^2 + 12B^2$$

Properties

(i) $x(a,b) - 2y(a,b)$ is a nasty number

(ii) $y(a,b) - 2z(a,b) \equiv 0 \pmod{4}$

(iii) $z(a,b) - 3w(a,b) \equiv 0 \pmod{6}$

(iv) $3x(a,b) - 4z(a,b)$ is a nasty number

(v) $y(a,b) - 2w(a,1) \equiv 0 \pmod{3}$

Pattern 3:

Equation (3) can also be written as

$$u^2 + 3v^2 = 12w^2 * 1 \text{-----}(13)$$

write '1' as

$$1 = \frac{(1 + i\sqrt{3})(1 - i\sqrt{3})}{4} \text{-----} (14)$$

Using(4) ,(9) and (14) in

$$u^2 + 3v^2 = 12w^2 * 1$$

$$u^2 + 3v^2 = \frac{(6 + 2i\sqrt{3})(6 - 2i\sqrt{3})(1 + i\sqrt{3})(1 - i\sqrt{3})(a^2 + 3b^2)^2}{4}$$

$$(u + i\sqrt{3}v)(u - i\sqrt{3}v) = \frac{(6 + 2i\sqrt{3})(6 - 2i\sqrt{3})(1 + i\sqrt{3})(1 - i\sqrt{3})(a^2 + 3b^2)^2}{4}$$

$$z = -48AB$$

$$w = -4A^2 + 12B^2$$

Which is equivalent to the system of equations

$$(u + i\sqrt{3}v) = \frac{(6 + 2i\sqrt{3})(1 + i\sqrt{3})(a + i\sqrt{3})}{2}$$

$$(u - i\sqrt{3}v) = \frac{(6 - 2i\sqrt{3})(1 - i\sqrt{3})(a - i\sqrt{3})}{2}$$

Equating the real and imaginary parts,

$$u = \frac{1}{4}(-48ab) = -12ab \text{ ----- (15)}$$

$$v = \frac{1}{4}(8a^2 - 24b^2) = 2a^2 - 6b^2 \text{ ----- (16)}$$

On substituting (15) and (16) in (2), we get

$$x = u + v = 2a^2 - 6b^2 - 12ab$$

$$y = u - v = -2a^2 + 6b^2 - 12ab$$

$$z = u = -12ab$$

The corresponding integer solutions are given by

$$x = x(a, b) = 2a^2 - 6b^2 - 12ab$$

$$y = y(a, b) = -2a^2 + 6b^2 - 12ab$$

$$z = z(a, b) = -12ab$$

$$w = w(a, b) = a^2 + 3b^2$$

To find integral solutions, choose a = 2A and b = 2B leads to the integer solutions to (1) are given by

$$x = 8A^2 - 24B^2 - 48AB$$

$$y = -8A^2 + 24B^2 - 48AB$$

Properties

(i) $x(a, b) + y(a, b)$ is a nasty number

(ii) $y(a, 1) - z(a, 1) - t_{18,a} - 7a$ is a nasty number

(iii) $z(a, b) + w(a, b) \equiv 0 \pmod{4}$

(iv) $x(a, b) - z(a, b) \equiv 0 \pmod{8}$

(v) $x(a, 1) - z(a, 1) - 8a^2$ is a nasty number

Pattern 4:

Equation (3) can be rewritten as

$$u^2 - 9w^2 = 3(w^2 - v^2)$$

which is written in the form of ratio as,

$$\frac{u + 3v}{w - v} = \frac{3(w + v)}{u - 3v} = \frac{a}{b}$$

which is equivalent to the system of equations,

$$bu + 3wb - aw + av = 0$$

$$bu + av + (3b - a)w = 0$$

and

$$\frac{3(w + v)}{u - 3w} = \frac{a}{b}$$

which is equivalent to the system of equations,

$$au - 3aw - 3bw - 3bv = 0$$

$$au - 3bv - (3a + 3b)w = 0$$

Applying the method of cross multiplication we have,

$$u = -3a^2 + 9b^2 - 6ab$$

$$v = -a^2 + 3b^2 + 6ab$$

$$w = a^2 + 3b^2$$

Substituting the values of 'u' and 'v' we get the non – zero distinct integral solutions to be

$$x = x(a,b) = -4a^2 + 12b^2$$

$$y = y(a,b) = -2a^2 + 6b^2 - 12ab$$

$$z = z(a,b) = -3a^2 + 9b^2 - 6ab$$

$$w = w(a,b) = a^2 + 3b^2$$

Properties

- (i) $x(a,b) - y(a,b) \equiv 0 \pmod{2}$
- (ii) $x(a,b) - z(a,b) - t_{4,a} \equiv 0 \pmod{3}$
- (iii) $x(a,b) + 2w(a,b)$ is a nasty number
- (iv) $y(a,b) - 2z(a,b) \equiv 0 \pmod{4}$
- (v) $z(a,b) - 3w(a,b)$ is a nasty number

III. CONCLUSION

To conclude, one may search for other patterns of solutions to the equation under consideration.

REFERENCES

- [1] Vidhyalakshmi S,Gopalan M.A,Aarthy Thangam s, on the ternary cubic diophantine equation $4(x^2 + x) + 5(y^2 + 2y) = -6 + 14z^3$, International journal of innovative Reserach and Review,2014,2(3),34-39.
- [2] Meena K,Vidhyalakshmi S,Gopalan M.A,Priya K,Integral points on the cone $3(x^2 + y^2) - 5xy = 47z^2$, Bulletin of Mathematics and Statistics and Research,2014,2(1),65-70.
- [3] Gopalan M.A,Vidhyalakshmi S,Kavitha A,Observation on the Ternary Cubic Equation $x^2 + y^2 + xy = 12z^3$ Antarctica J.Math,2013;10(5):453-460.
- [4] Gopalan M.A,Vidhyalakshmi S,Lakshmi K,Lattice points on the Elliptic Paraboloid, $16y^2 + 9z^2 = 4x^2$, Bessel J.Math,2013,3(2),137-145.
- [5] Gopalan M.A,Vidhyalakshmi S,Umarani J,Integral points on the Homogenous Cone $x^2 + 4y^2 = 37z^2$, Cayley J.Math,2013,2(2),101-107.
- [6] Gopalan M.A,Vidhyalakshmi S,Sumathi G,Lattice points on the Hyperboloid of one sheet $4z^2 = 2x^2 + 3y^2 - 4$, The Diophantus J.Math,2012,1(2),109-115.
- [7] Gopalan M.A,Vidhyalakshmi S,Lakshmi K,Integral points on the Hyperboloid of two sheets $3y^2 = 7x^2 - z^2 + 21$, Diophantus J.Math,2012,1(2),99-107.
- [8] Gopalan M.A,Vidhyalakshmi S,Mallika S,Observation on Hyperboloid of one sheet $x^2 + 2y^2 - z^2 = 2$,Bessel J.Math,2012,2(3),221-226.
- [9] Gopalan M.A,Vidhyalakshmi S,Usha Rani T.R,Mallika S,Integral points on the Homogenous cone

, $6z^2 + 3y^2 - 2x^2 = 0$, Impact

J.Sci.Tech,2012,6(1),7-13.

- [10] Gopalan M.A,Vidhyalakshmi
S,Kavitha A,Integral points on the
Homogenous Cone $z^2 = 2x^2 - 7y^2$,The
Diophantus J.Math,2012,1(2) 127-
136..

International Journal of Engineering Research and Applications (IJERA) is
UGC approved Journal with Sl. No. 4525, Journal no. 47088. Indexed in
Cross Ref, Index Copernicus (ICV 80.82), NASA, Ads, Researcher Id

Dr.R.Anbuselvi On the Cubic Equation with Four Unknowns .”
International Journal of Engineering Research and Applications (IJERA) ,
vol. 7, no. 11, 2017, pp. 01–06.